BIGMAC - 7/8A

THE MOST PERFORMING CB HOME ANTENNA IN THE WORLD

The BIG MAC from Ham Inlernational is a sensational 7/8 wavelength home antenna with a gain of more than 7 real
d8's in the frequency range between 26-28 Mhz. It consisiof a 1/4 antenna whareol the radiation field is
increased by verlical andontop ol thisa 5Bw MMMmmﬁmbynmdam

Radiation over the full ilength of 9,90 m, and not only at the top, assures a maximum efficiency.

The special design with & full size horizontal radials resulls in a perfec! horizontal ra-

diation, thus ca less inlerferences in neighbours television and audi> equipment.

I also makes the BIG MAC particularly suitable for very long distances or difficull com-
munications.

Static eleciricity on the antenna will be discharged immediately and the usabile power is
mlndmmwgnﬁ.nyhumdﬂymmﬁa:mﬂadmm MIargeEXTEFINAL
COAL. Angther aovantage is the easily adgiustable SWH at the base of the anlenna

This Beigian product guamnlaasaheawwmm:lm in first class aluminium and with
all spare parts separately oblainable.

The English manual provides a comprehensive descri of the antenna and spare
fl parts, and gives you all the necessary advices to mount the Big Mac on your roof the most
I £asy way.

‘ Specifications - Caractéristiques - Kenmerken - Netzgerdte

Type GP7EA
Impedance - Impédance - iImpedantie - Impadanz 50 Ohm
Freguency - Fréguence - Frekwentie - Frequenz 26-28 Mhz
Bandwidth - Largeur de bande - Bandbreedts - Bandbreite 2 Mhz
E Gain - Winst - Gewinn 7 ae
Polarisation - Polarisatia Verl
Max, - Puissance max. - Max. vermogen
Max, ung 2kW
| Connection - Connexion - Aansluiting - Anschiuss UHF (PL 259)
SWR-TOS 1.1 -resonan. freg,
1.3-40ch.
H 1,6-B0ch.
1 (measured at the antenna base - nwasaﬂaﬂuémkmbnudmnm
Total length - L mmle S&mllan;-TAm 9945}
- Longueur lengte m
| Radial length - Longueur des radians - Radiaallengle
Radialiange 2670m
Weight - Poids - Gewichi 52kg
_::'-'-_-_—F-




BIGMAC

de Ham International est une anlenne de base de unigque, qui fonctionne en 7/8 de longueur

la bande de 26-28 Mhz. Elle se compose d'une 1/4 d mmmmwmm
par des radians vericaux, et une 58 d'onde. Ces deux avennes soni mises en phase par une sell. Un rendement
nﬁrnnlns!dmm par la rayonnsment sor iouts e lnaguesr ds 9 G0 m, 8t ne pas uniquemaent dans la partie supérieure

l.amtd!gu.ra'bm we avec les 6 radians « full size- un rayonnement extrémement étroit e diminue les
mmmmm gain anorme de de 7 dB réets. Cela rend la BIG MAC particuliérement

L'antenne ne it pas de parasites el elle esi wdum:alap.ﬁqu & 2000 Watt. En plus. la grande

self EXTERIE! Eudmmmﬂum ‘humidité. Le mmmrmmlmunmmmrm

Ce produil de fabrication belge garantil une construction solide en aluminium de premigre qualité et avac l'avaniage

E:abuhzhsphmp&umham s el - =
mode mm%mmmwmm ‘anienne rechange,

mmwmmmmmmmmuuaﬁmcsurmmdwfmmm

De BIG MAC van Ham Inlernational is een sensationele 7/8 goll antenne, mmmmnw'umrrwdan?m
dB's, in de frekwentieband 26-28 Mhz. De antenne bestaal uil een 1/4 golf waarvan het stralingsopperviak wordt ver-
groot door verlikale radialen, en daarboven op een 5/B goll die met elkaar in fase gebrachl zijn door middel van een
aqﬁ Em%mﬂmlwﬂbﬂumdwdmﬁuhﬂﬂmgﬂuﬂwmgmmmwwm.
alleen aan
mmﬂw&mmmwmmﬁmmmmmmmmgmmmmml
richie uitstraling, wat resulieert in geringere &n sl bij de buren BIG MAC tevens zeer
it voor et atstandenol mospee

geen statische storingen, en verwerkl zeer 2000 Watt. D&ymtﬂl.ll'l'WENDiGE
sm&mm van de vochtigheid uit. Tmisﬂ@&ﬂﬁmmmﬂgaﬂemgem de anlenne
mﬂmmmmmmwmmnﬂmMmmmmmmmm

lige handieiding baval een volledige van de antenne en de onderdelen, en
WWHHWMMMMBIGMWM op uw dak te installeren.

Die BIG MAC von Ham International ist eine hochwertige 78 Welle Antenne, die mit esnem Gewinn von mehr
m?m_ummmmandzﬁrnmu Dtemnmbaﬂmtmmil'ﬂdh rch vartikale Raciale erhohier

, und droben eine 58 Welle. Die unterschiedliche E Immeﬁndmnmnwm'n Phase gebracht mit-
Spula. &mmmmmmmmmmmummammmﬂwm

Dmmmmﬁmnmuﬂwwtmw“w“whuhmm&mm iellz Design und
ﬁeﬁhmm@"ggﬂmhuwmm Sie verursachen dadurch weniger Einstrahlung Kachbarn und
5 Sldrungen
Das machi die BIG MAC - %mrmmmmmm.
emplangl keine stalische und ist voll belastbar bis 2000 W. Die aussera Spule sparm
mwwmnumuwm unten am Fuss der Antenne ab

mwnduhgmmmsﬂimbmﬁmuhmnummmmsmmnmm&ﬂ-
mﬂwmmmwm umfasst gine WIW von Antenne und Ersatzizile, und
mmmmmwﬁ?ﬂmuwmm EMWI;mM Ly

HAMHI‘EMTM HAM NTEReaaTiCma

BRUSSELSES TEENWEG <28
I GEMT — BELIam B 113

TEL eI IN L HMI0LEEOUN-LIE
FLE 17527 WAl B




BIG|MAC

27 NIHZ
7/8 A\




\ BIG MAC 7/8

Antenne de base 7/8 de lengueur d’onde avec 6 radians.

Haut rendsment #t gain supdrisur & 7 dB.

mwmmﬂmummuumitﬂ-m

ou difficiles grice & son gain ot son diagramme de
Caractéristiques :
de‘m G.P. 7/B (584 4+ 14 an phase)

T.08 mliimm - voir duagramme

1.211 pour 40 canaux

1.6/1 pour B0 canaux

Mesures affectudes & la base de I'antenne.
Hauteur totale ; 8845 mm.
Longueur radians : 2.670 mm.
Poids : 5200 kgs.
Connecteur : PL 250 (UHF)
Puissance maximum : 2 KW

3
}

L
bl
¢ i el

- .--L-r-t:-u-un'-ﬂﬂ-ﬂ;---‘-‘-ﬂﬂ-ﬂ—'i
aa;g

1

i

Euuuauu!uu&saazaaz=aa=s..2$.;



3 vis M5 4 3 éerous (5)(8)
1 cavalier (8)
1 piboo support (11)
Introduire la sell par l'extrémité supérisure du tube afin que la grande
collerette (4) pulsse se placer sur lo tube support (7)
La collerette (3) viendra buter contre la bague isolante (2)
Fixer et bloguer la collerette (3) & I'side d'une vis MS + écrou (5)

La collarette (4) sera fixde ot bloguée de la mémo mankbre (6) aprés
négld la amance (x) qui sera de 38 mm.
I.*m-r munl de sa vin M5 (extérieur) et écrou (intérieur) viendra

la self.
ln (11) comportant la priss ot
colui-el traversant I'étrier (8) & lintériour do ls spire au

Blogquer |a vis de I'étrier afin d'gbtenir un bon contact entre lo curseur ot
self. La pibce support (11) & son tour bloguée par une vis & & pane

—tmunmm{mwllmhﬂﬁluwﬂmm
la bas (re pas encare fixer)
—Hmrﬂhlrhmtﬂ]
— Sélectionner : le tuba @ 24 (25)
2 selfs

collorotie
rette & Faide dune vis M5 + éerou

Introdulre |n 26me demi-sell par l'extrémitd inférieure. Fixer les
wamm+m.m.uwlmm
mmluhmhon Inférieur. Bloguer par vis M5
Introduire la plbice supporn sur le tube inférieure (25) los vis
vers lo bas, {”plht (21) viendra buter contre la
e ﬂhMﬂHHﬁﬂuﬂlmw$MMilmm

— Placer ol fixer lo tube (25) sur le tubs (23) par vis tarsudsuses (24).
Sélectionner : § radisns verticaux (1

3 radians verticaux

6 colliers de serrage (18]
Introduire les radians centraux (20) dana les radians coudde (18) sur 50 mm.
Bloquer par cclliers de serrage (19)
Placer et fixer cos radians dans los plbces supports (21) et (17) par vis MG

& 6 pane creux Le positionnement de ls pibco support (17) se déterminer
automatiquement sur le tube & 30 mm,

Fixer suppont (17)
Piacer ot fixer lea tubes (2E)(27)(28)(28) et (30)

Reglage
lﬂhhnﬂuuﬂmdiﬁmdll'mmdiﬂnqwl les

Drusssisestopneeg 418 - B 218 GENT
iBalglumi
A INTERNATIONAL  vou 00329131 2111 - Telas 12521 HAM 8



BIG MAC 7/8

Basis sntenne met & volle radialen en een lengte van 7/8 golf.
mmmmm:uﬂﬂmmmmgﬂﬁ;

antenne |8 bijzonder geschikt voor zeer monilijke atatanden
mmmhwlmmmlrmme
door de speciale design en de zes radialen.
21} veroorzaakt deardoor ook minder instraling bij de buren en bigevolg
is do kans op storing cok roor gering.

Eigenschappen :
Type : W?m {eon 584 en 1/4A in fase)

Polarisatio :

ONDERDELENLIST
Aantal Beschrijving Zie figuur n*
1 Basis : inpedentie sarpassing 1
7 Bout x 20 58
L Moer M5 5?
| Draagmaost
1 Ruitertje L]
1 Spanring 10
i ngastuk radialen 1
1 Bout M x 30 12
1! M:‘: zeshgokige (in bus) :3
1 mat holte
L] Radiglen @ 10 14
: Zili‘tlwl:ill x84 ::
L] bout 29 x
1 Ondersts 17

radialen
] Verticals radialen @ 75 18
] 816 19
3 ddensiuk vertikale radialen 20
! Bovensie gingsstuk rechistaande radialen 21
2 Fase spool 22
1 Aluminium buis @ 27 o
14 Zelftappende bouten 4.2 x 85 24
1 Buis @ 24 voor centrale -]
| Buls @ 21 26
) Buls @ 185 a7
1 Buis @ 16 28
! Buis @ 13 29
1 Buis @ 10 an
} Aldelkkipje @ 10 3



BESCHRUVING VAN DE MONTAGE
Zio schama van de antanne in ulteengenomen toestand

* Meem corst : do drasgmast
dnhmipulmm
3 bouten M5 en 3 moaren (5) (B)
1 rultertjs (9)
1 bevestigingsstuk voor radialen (11)
—dl?:rlhmdtbowmmg:hmnhumm-a
baugel over schuift. kiginera bougel (3)
wmhwanmmwmmm
"‘M{ﬂ-ﬂlwmlﬂlfﬂlﬂﬂmmﬂm de grote
ovensens vastzotten () bevestigingssiuk voor do radialen (11
pin (8) naer boven langs ondar over de drasgmast (T) schubven.
pin binnenin de spoel door

588
£sg

5

$

]

b3

iz

g

i

B
282

T

%
i
i
gz
|
i
1
i

I
g
i
:

2
é
$

4

31 1

iz ¢

— do vertikale centrale delen (20) tussen twee gebogen eenheden (18)
monteren, 28 5 em in elkasr schuiven on met de apanringan (19) vastzetion,

= plonts de radislon in do bevestigingestukken (21) en (17) met de inbus
bouten. Het onderste potuk 17 komt 20 automatisch op de julste
plasts op de onderste buls @ 30 en mag vestgezet worden

— de telescopische buizen (28) (27) (28) (20) en (30) bevestigen. met de

— afdeikapje (31) plastsen
— do anlenno op zijn mast monteren met spa (10) an bout +moer (12)
— do horizontale radialen (1
i, [*}mttﬁjmd-mwn«mim
— de komplete radialen in bevestigingastuk (11) vestzetton

REGELING VAN DE SWR

Na de definitieve plaatsing van de antenne lichtjes do bouten (5) (6) en (9)
loazetten. De spoel lichijes verdrasien [max 0,5 ¢m per keer) zodst het
kontakt van de loper (B) links of rechta van het merkteken komt te staan,
on aldus de gunatigete SWH opzoeken.

Vioor sen idesls meting moet de SWR meter viakbi| de antenne geplaatst
zijn met zo weinig mogelijk kabel srussen.

Brusselsesiseswog 410 - B #2108 GENT
HAM e e
I TIONAL 740 0032913121 11 - Telax 12521 HAM B



BIG MAC 7/8

Bmuhﬂu!ﬂmuﬂmgﬂimihﬂilngﬂluﬂl.lnﬂlmllﬂd

more than T dB.

This antenna Is particularly sultable for very long or very difficult distances

because of its very high gain and the very low radiation pattern. This was

obtained by the special design and the six radials. That way it couses less
Inte nelghbours interferance.

radiation thus minimising the chance for
Specifications

Type : groundplane 784 (one 584 and 144 in phase)
impedance : 50 chma

* SWR < 1,1 on rescnant frequency ses diagram
< 1,2 for 40 channals
< 1,6 for BO channels
* maasured ot the antenna.

Total length : 8.845 mm
Radial length : 2.670 mm
Waight : 5.2 kg
Connector : UHF (PL 258) "
Usable Power : 2 Kw
PART - LIST
Quantity Description Relerence Number
1 Base coll : impedance adaption 1
7 Bolts M5 x 20 548
H &pp::ﬁm sg
1
1 Motal rider )
i ring 10
1 Support radiale 1
1 Bolt M8 x 30 12
| Y S——— i
] Radials @ 10 14
A oY i
acrews ]
1 Bottom for vertical radials 17
6 Vertical radials @ 7.5 18
6 rings B-16 19
3 part vertical radiale 20
; Twmmvu::“duﬂﬁ g
1 mmﬂnnﬂ b
14 Selftapping screws 4.2 x 85 24
1 Tube @ 24 for cantral coll »n
1 Tube @21 26
1 Tuba @ 185 4
1 Tube & 18 28
1 Tube @ 13 2
1 Tube & 10 k]
: Plastic cap & 10 3

£
i



(¥ to assure good electrical contact pi
support (11) may be fastened with the Allan Bolts (13).
== Pyt the bottom support for the verticel radials (17) over the @ 30 tube
with the fastoning screws downwards (do not yet tighten)

:
33
g
it
2

Put tuba (23) @ 27 in place and fix with selftapping screws (24)

T

Tha twa  half calls

4 bolts and nuts

= Put one half coil (22) from the top over tube (25), with the clamp up and
coll downwards. Fix the clamp against the lsclator with M5 bolt and nut

= Put tho second half coil (22) from tha bottom over tube (25) with the coil

upwards and the clamp down, Connect the two colls to each other with

bolt and nut M5, Fix and tighten the lowest clamp against the lsolator with

M5 bolt and nut

— Slide the support for vertical radials (21) from the bottom over

wh{ﬂ]mﬁ“ dowmwards and fix it against the lowost

ng screws
clamp with allan bolts M8 (13)
— Put tuba (25) on tube (23) and fix with selftapping screws (24)

* Belect :

6 vertical radial units (18) (bended ot one sido )

3 vortical radial units {bended slighthy in tha middie)

6 clamps (ring) (19)

— Mount the vertical central parts (20) between two bended ones, by
pushing them 5 cm in each other and tghten with clamps (19)

= Place the radials in the supports (21) and (17) and fix with the ullon
scrows, The botiom support (17) comes that way automatically on the right

(—thwuum.m}mns}mmwum
L]
— Mount the complete radials in the suppert (11) and tighten

Brusssissstesrweg 418 - D918 GENT
iBaigium)
HAM INTERNATIONAL 7, 00 22 91« 31 31 11 = Tolex 12521 HAM B



BIG MAC 718

_EREER

HHHHHHH




INTERMATIOMAL

HAM




